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(2% — 4)(6x — 5) (3% + 6x + 6)(6x — 5)
(> + 9x + 9)(6x + 6) (5% + Tx + T)(Tx + 4)
(7+ 6x°) (9x — 5) (4= 9x)(4x + 6)
(1- 8% (9x—2) (3— 9 (2x + 8)
(8 + 82 (8x— 7) (6x° + 3x + 3)(8x — 2)
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(2x% — 4)(6x — 5) (3x% + 6x + 6)(6x — 5)
122 — 1062 — 24x + 20 18x° + 21x* + 6x— 30
(2 + 9x + 9)(6x + 6) (5% + Tx+ T)(Tx + 4)
6x° + 60x> + 108x + 54 35x° + 69x2 + 77x + 28
(7+ 6x°) (9x — 5) (4= 9x)(4x + 6)
54 — 30x% + 63x — 35 —36x° — 38x + 24
(1— 8% (9x—2) (3— 9 (2x + 8)
—72%° + 16x% +9x— 2 —18%° — 72x% + 6x + 24
(8 + 87 (8x—7) (637 + 3x + 3)(8x — 2)
64x° — 56x° + 64x — 56 483 + 122 + 18x— 6
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